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(U] Yo])= 8 x 8 x 3.14 = 200.96( cm?)
(9] Wol)=8x2x3.14x[ |=5024x[ |
(BWol) =200.96 x 2 + 50.24 x| | = 803.84

[ ]= (803.84 — 401.92) + 50.24 = 8(cm)
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(F3)=1x1x3.14x (4 +6) x % = 15.7(cm?)
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(3179 7t ©H 9 Hol)
=10x10x3.14 — 4 x 4 x 3.14 = 314 — 50.24= 263.76 (cm? )
(2119 Eef Hel)
=(10x2x%x3.14x8) + (4x2x3.14x8)
= 502.4 + 200.96 = 703.36 (cm? )
(17412l Z4lol)
= 263.76 x 2 + 703.36 = 1230.88 (cm? )
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(FF ¥HO] Y{ol) = 5x5x 3.14 = 78.5(cm?)
(F4Hlo]) =5x2x3.14 x 13 = 408.2(cm?)
(Auel) = (
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(F-1])= 10 x 10 x 3.14 x 10 = 3140( cm?)
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